1.

SH (VB4)(V3=i)(x+yi) = 8-2i
xy o 27

@D -9 @ -1 3 0



3+9i
10




TFr=x+yi7tz=45
A& 4ot



® 1 3) 2 @ 3 B 4

@D 0



ol

11x>-13x+2=0

@ x+2 ® x+3

® x+1



=00°] T

X -2x+k+2

w4

oA

®B 2

3 0

® 1



y=-x*+4
x (1<x<5)

&
S
e

.

Ul

S

SRR



g, o +p° +y°



9. x7tASL ], Ix-2/<5,x <35 FAO ©HESh= 19 B2 BF
EopH?

@D -7 @ -5 3 -3 @ -1 3 0



10.

i+ 202 433 4 -+ 50% 9] F2?

® -26 - 25i

@ —25 + 26i

@ -26 + 25i

® 25+ 26i

® 0



1 X2 +2(k—a)x+k? +a? +b-2=0°] A5 k9 FL

o]

A
A

stet,

:ll

O
=

7P o, a+ b2 3t

O
=



12.

AP A 4 4203 4202 —2x—3 =09 BE

© -2v2i @ +2i

@ -1 @ 1



13. thg QYWgAe she Fatolet,

x+2y:8 ...... @
2y+3z—9 ...... @
3Z+x: ...... @
Y EES
DO ERE



14, 157770 g o gre pepe
x2+y*=5



15.

2, .2
X +y =5
AY4

¥ -xy+y>=3
x=a,y=>b2t T 1, ab 2| F27

@D =2 @ -1 3 0

SRS

@ 1



16.

i 1 1
O|ZAHE-SA ax? + bx+c¢ >0 9 6H7}ﬂ <x< =

dex® - 2bx +a < 0 9 =2

DO x<-TEEx>-5
® -7T<x<5

B x<HhEEx>7

10

@ -T<x<-5

@ 5<x<7

o]
=



)
®

Nl

<a

<a

<2

<5

w| ot

IA

IN



® 1-i

@ 1+



2i 4 o, ab ©]

ol b+

ki

oA A 52 +4x+a =0 ]

19.

® -13 3 -12 @ -11 ® -10

@D -14



20. oJARtr y=x?—ax+1 9 v} x S 2] 2 0, f(a) =
a? —2a+ 2 ©] F|EF2?

@ 1 @ 2 ® 3 @ 2 ® 5



%

2x2 —3x 4+ 19] gz o} A

L 5L, & a b Ha

,]

—ax—i—b-J
=7

=
- A&

oA
=

94



22,

0ol obd A= x, y 7F (x + 1)(y* + 4a?) - 8axy = 0= T

of Fet o] AL A aol BARlC] AT Z= 2

D% ot (a#0)
ge
Be



23. TE A xof tiste] 54 (k-2)x® +2(k-2)x+1>0°] AHET

o =

o, A= k3Ee] W7t m < k < nolth m+n o 3L Fotola).

a%”im—i—n:i



o124 y = k2 —dax+ 1 9] AT A y = 2x—q O] T T}
AF Q&) QL2 she Al o O] HOlE 1atHY

3

®a>0 @—i<a<0 T

3

1 3
@—Z<a<1 ©_1<a<0

1
@ —1<a<



@ 178

® 274

@ 3 7

® 4 74



